HOW CAN THE THREAT OF GLIMATE
CHANGE BE REDUGED WITHOUT
DAMAGING THE GLOBAL ECONOMY?
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WHAT IS THE EVIDENGE?

Since the Industrial
Revolution warming
has occurred ten times
faster than at any other
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occurring with greater

The earth’s average

frequency and intensity sea level is rising

Torrential rains and prolonged
drought in many regions are
reducing food production, causing
fires and creating climate refugees
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400 ppm HOW DO WE COMBAT GLIMATE CHANGE?
The circa-2014
atmospheric Attack its root cause and reduce greenhouse gas

emissions

— Reduce the demand for fossil fuels by increasing the
efficiency of energy production and consumption

— Decarbonize the world’s primary energy supply

® Reduce the use of coal by substituting
natural gas or nuclear energy

* Increase the use of renewable energy
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2040 (solar, wind and hydro)
At current * Replace the use of petroleum
emission rates for transportation by electrifying
the year in ’ or using biofuels
which 450 ppm Foster a global sea change in cultural norms with
’ conservation becoming a deeply engrained social value
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Accept the inevitability of adverse effects and implement

are reached measures for adapting to climate change

‘5’: Climate Change: A Wicked Problem

e e

Climate Change:
A Wicked Problem

582 CAMBRIDGE
%8> UNIVERSITY PRESS

www.cambridge.org/incropera



